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EQUAZIONI NUMERICHE INTERE
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3 5 2 3
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(2x* = x+1)° =(2x* —1)* - x* (4x-9)
AP+ X2 +1-43 +4AXP = 2Xx=4X  —4AX® +1-4X3 + 9X°

-2x=0 x=0
X_5+2_5X:1—x
4 3
3x-15+8-20x-12+12x =0
-5x=19 x=—1—9
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8+6X_5—g(1—3x) = g(1+x)+2X"2)

2
16+ 6x-5-5+15x=16+16x+5x—-10 ind.
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5x-5+6 -45- 9x-10=0
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17-x _8-3x 25
2X + = +—

2 3 3
12x+51-3x=16-6x+50 15x =15
x+5:§+1
7 3
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3x+15=7x+21 -4x=6 X=—§
ﬂ§_§+§+1_5:X+2_X_4
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40x - 20+15x +30-450=6x +12 - 15x + 60
64x =512 x=8

5—x+4=O
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2 3 6
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3 1(x j (Ex—lj—ﬁ——1 =2
4 3 6
3 EEE)(+1 § lx+1 =2
| 4 3 2 2 6 6
1x 3 —g—1x+1:2 §x:6 X=4
2 2 2 2 2 2

| =
7\
N
x
I
N
x
N—
|
7N\
ol
+
N | ol
N—
1
I
Mlw
7N\
x
I
Wl
N—
|
VR
x
+
ok
N—

1[ 8 3 1 1

—| = X< | ==X—=—=X—=

2| 3| 4 4 8

1 4 3 1 1 23 =

—X—o = —X—— = X—— 3X=— -

8 3 4 4 8 3 9
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